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QUESTION 1

A customer is unable to boot to a 3.5TB volume created and presented to a compute node.
What is likely preventing the boot?

A. Boot volumes larger than 3TB are not supported on HPE Synergy.

B. The system is set to Legacy BIOS mode instead of UEFI.

C. The system is set to UEFI instead of Legacy BIOS mode.

D. Boot volumes larger than 2.2TB are not supported on Synergy.

Correct Answer: D

QUESTION 2

Using composable features, what should a Synergy integrator do to resolve high memory utilization on an HPE Synergy
compute module?

A. Use the API to optimize the memory allocation from the HPE Synergy fluid resource pool.

B. Increase the allocated physical memory from the HPE Synergy fluid resource pool, and then reboot the compute
module.

C. Take a small outage and reassign the HPE OneView server profile to a higher capacity compute module.
D. Increase the reversed physical memory in the Server Profile (SP), and then reapply.

Correct Answer: B

QUESTION 3
HOTSPOT

A Synergy integrator has installed a new frame into a rack with two existing frames in the customer\\'s environment.
Click where the integrator should verify that the cabling for the management ring was completed correctly.

Hot Area:
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Correct Answer:
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A customer needs increased available bandwidth and highly available network Virtual Connect interconnects.

Which two steps must the Synergy integrator perform in the configuration to meet the customer\\'s needs? (Choose

two.)

A. Link Ports L1 and L4 on Master ICMs to ports L1 and L2 on the first Satellite ICM.

B. Install Redundant Frame Link Modules and a second management ring.
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C. Enable Multimodule Link Aggregation Group (MLAG).
D. Enable Intelligent Resilient Fabric (IRF) on the Virtual Connect Modules.
E. Connect Ports Q7 and Q8 on the Master Interconnect Modules (ICM).

Correct Answer: AD

QUESTION 5

Refer to the exhibit.
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Master Module 2

A customer with the configuration shown attempts to configure a server profile for a new application that requires 20Gb
of bandwidth, but the configuration fails. The HPE SY 480 Gen9 compute modules have two Intel Xeon E5 ?2695 v4

processors. 256GB of RAM and HPE Synergy 3520C Converged Network Adapters installed.
What is the likely cause of the configuration failure?

A. HPE Virtual Connect SE 40Gb F8 Module does not support 20Gb.

B. Intel Processor does not have enough PCl-e lanes for 20Gb.

C. HPE 10Gb Interconnect Link Module does not support 20Gb.

D. Converged Network Adapter is unable to support 20Gb.

Correct Answer: C
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